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(ii) Sh 166                  48 calls                                                                          (1mks)
(b ) What is the standing charge?             Sh 70                                           (1mk)
22. The vertices of quadrilateral OPQR are O (0, 0), P (2, 0),Q(4,2) and R (0,3). The vertices of its image under a rotation are O’ (1, -1), P’ (1,-3), Q’ (3, - 5) and R’ (4, - 1).
	(a)  (i)	On the grid provided, draw OPQR and its image O’P’Q’R’.	           (2 marks)
Rectangle OPQR correctly drawn   B1
Rectangle O’P’Q’R’ correctly drawn   B1
[image: C:\Users\Administrator\Documents\Scanned Documents\Image (12).jpg]			
	(ii)	By construction, determine the centre and angle of rotation.	(3 marks)
    Construction of any two correct perpendicular bisectors……..B1
    Cecntre (0, -1)
    Angle of rotation   -90˚ or +270˚
(b)	On the same grid as (a) (i) above, draw O” P”Q”R”, the image of O’P’Q’R’ under a reflection in the line y = x.						(2 marks)
   Line y = x.	correctly drawn   B1
   O” P”Q”R”     correctly drawn   B1
(c)	From the quadrilaterals drawn, state the pairs that are:
	(i) Directly congruent;						(1 mark)
       OPQR and O’P’Q’R’   B1
(i) Oppositely congruent.						(2 marks) 

        O’P’Q’R’ and O’P’Q’R’ B1
      OPQR and O” P”Q”R”   B1
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21. Telephone bills consis ofa fixed standing charge and an amotnt which depends on the
number of calls made. The table below shows the total amount payable by a subscriber for a
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